Homework 2

Thursday, April 12, 2018 11:59 PM
2
1® Fid ol Hhe solubions 0¥ X—x-2 in Z. .
17
2 .
) Does X—x%-2 have On\ké fwo zerts in Z.L%?‘

2. Find the chamctenshe of Z,xZ¢ md Z X Zq‘
C(TU\S‘H% Your anscer.) .
3.@Shoes thet QINZ1=3a+b{Z | o,be@f is o Pield.
® &%nilo\rla one o Show that Z]:\]?_]_:?_o\-{-\o\h__ ] o\,5€23
is a f‘li’\ta. Pove that QL1 is the held 0142 Practions
of ZLJTl (\,(? +o an l'sommﬂ?k\'sm).
b
4Lt £ ZTT1 5 31% ° 0] labez 3.
—f(a—hrz— L) = E: Zolil IS an isomr\n'sm o-% h'nﬂs :
(\(ov\ do nGl.‘ nex& {o showo "Hv:" ‘H\C codomain & o Sulon'né
of My(Z).)
. Su\:?ose. A s a unital commutetive n‘r\é) 0.@ cl«ar‘o\cl:errs-h‘c Ve
col\ere '|> IS anh«e. Trove 'Hvtl‘, ¥W‘ mma ‘X,‘jé‘A, (0(-»—3%:: ‘)(P...td?.

(H:'n-{-. You ave a“omu‘ 'IIJ use Bl’nomio\l Qx?ansfon cof‘l’lnoa‘l? ?rvo‘P .
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Homework 2

Friday, April 13, 2018 10:46 AM

@<-l-‘3)n= :L;:o (n‘) 'x'.an—f cohere (h\) S ) and

il (n-i))

n
(7)€ 2
M 'Fl(el;) "'{2 c(l.<'\> m\J "Pis ?rime,.

rDecl‘kce 'H'\e claim. )

E@TFind & zem-divsor in Z_[1=% a+bi | a,beZ ]
where  (a+bi) (c4d )= c—bd)+ (ad 4+ b v .
(Yo do net need +o shas & & a Cing )
© Show that X%+l has no zem i Z_ .
© Show Hat, # either ogo orbro i Z_, then o+bie
n Z?.
@) Shoeo that Z LT =Zarbi |o,beZ {5 atell.
(Hik. © # azo,then o= o® (44 (2)); wse ©®.
@ His enav«al« o shos Z_[i1 s on n‘wkeaml domain. (why 7)
E+b) (crdN =0 = (arbi)(a-bi) (c—d) =0

= (&) (&d) =0 n Z3 uwse © Yo

s L\oco cf‘H\eY* O\-l-'o r=o or c-\-o‘t‘=o -)
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